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— ORWT MYV TR O AN
He said to him, it was a mistaken forfeiture

OVERVIEW

7M1 27 told 713¥ 27 that he cannot keep the added property which the other party
forfeited to him (by assisting him in making the wall [on his property]), since it is a
mistaken 7172°1% (the neighbor did not realize that the fence was being erected on his
property). Mo0IN reconciles our X3 (in which 1"7 maintains X7 X2 Myva 79200
n9°nn) with another X3 which seems to imply otherwise.

modoIn asks:
- 11)31'\) 29 9N (onn Hnnnn Mar7 0w 3,50 97 s xa3) TYI NN P992T YD

And there is a difficulty; for 1'' states in 722 17718 PP -
— 25959 59971 XYIN K910 239 N9 “NNONON 1329 9ININT ROYH

Now that the 3139 ruled that an Xn>»®eR is not legally binding, therefore the land

and the fruits revert back to the m%. The X7 there continues -
—*n95n1m NN Y MYV NYINN NI 29 20T NINDMNY

Does this mean to say that 1" maintains a mistaken forfeiture is not a 779 m2?!
— 55915 195319 Y97 71999 1990 VNHR N

But it was taught, one who sell the fruits of a date palm to his friend, etc. -
— *n93om 197919 XY DIIN) VINY INT NPT 1IN 29 9IN)

And 1"1 said, ‘and I admit to 7" that if the buyer pulled down the dates and ate

" The case there is where a m92 and M agreed that if the loan will not be paid up by three years, a particular field (of
the m?) will belong to the m>n. This type of agreement (if this, then that) is called an &nonox. See footnote # 2.
% Xnanox means support or dependence. The mb (in this case), when he agreed to transfer his field to the M if he
does not pay the loan after three years, did not really think it would happen, for he was certain that he will surely pay
the loan and was depending on this payment that this transfer would never come to pass. He merely said it to
assuage the concern of the m>n, letting him know that his loan is secure. Therefore since there was no serious intent
(on part of the 71?) to make this transfer, therefore this transfer (or 1°1p) is not effective.
? Even if the 7 entered the field after three years (and the loan was not paid) and consumed the M=, the M7
must return the land and the m17°5 that he consumed to the MY, for since >1p XY XN2nOX it was never the s'mon field.
* The X3 considers this case of Xn210K as a Mywa 72, The M2 allowed the m» into his field as payment for the
debt and agreed that he can keep the field and eat the N9, for he mistakenly thought that it belongs to the m>n. 1"3
ruled however that since this is a mistake, the transfer is invalid, indicating that a myva 7%°nn is not a 72°mx.
> The case there is where he is selling the dates that will grow (in the future) on this %p7. The view of X117 27 is that
once the dates are grown no one can rescind, however 1"7 maintains that the sale can be rescinded even after the
dates grew, since at the time of the deal the dates did not exist and the rule is 2792 X2 R?Ww 127 73pH QTN PX.
® The reason is because at that point in time (when the seller did not yet realize that he can invalidate the sale) the
seller is (mistakenly) forfeiting his rights to these n17°9, because he mistakenly assumes that they belong to the
buyer. This proves that 771 X1 nywva 772°m7.
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them, we do not extract from him the price of the dates, which the buyer consumed’.
This indicates that 1" maintains 77°n7 X7 Myva 79°mn, which contradict the previous statement
of 1"7 that »3°5 X7 RYIX X777,

— ANYYN NN 2227 0NN YN

And the X713 answers; there (by the fruit) it is a sale, but here (by the Xn>10K) it

is a loan. We cannot compare the two cases.
— 127 ARIYP $H°299) 179D INA ANIVNA NONNNY 59395 91N NNIDN NON 70‘1\9)1‘,711 V99

And >"w1 explained; here (in the case of *7°9 X777 RYIX X777) it is a loan® (and
it appears like interest),’ for initially he received this money as a loan and it is

similar to fixed wm;10 >"w1 continues -
— 1509311 W9 M99 1391 NPY 19 99193 XYN N9 HAN PN

And n>29 p2aR is only by a sale where for instance he bought fruit from him as

mentioned in the beginning of our ;7awn." This concludes the citation of the *"w151 XM

in n"2. MdOIN continues with his question on "W -
— %1903 80 MYLa 19NN N3 299 01PN Y927 yNHYN DNNY

So from the X713 in »"2 it seems that according to 1"'9 in all instances %°m»
MIYwVa is a 19I» (according to "W d) -

72"y there X371 7"
8 The n"21 M7 amends this to read 72nnnw X197 (deleting the words n°212 *1mn1). [However in our >"w1 texts in
n'"2 the words n°212 *11°m1 do appear. ]
’ The mbn ate the M "0 of the mortgaged property (after the three years); if he will not be required to return the value
of the n7°® which he consumed (together with the land), those M1 will be interest payments on his loan. The Mm%
will eventually receive his loan back in addition to the 175 which he consumed. Therefore even though nwwa 1% nn
may be a 72°nn, but we cannot allow the Mm% to keep the m7°0 since he would be transgressing the Mo°x of N2 It is
however, merely n*21> *mn for it is considered as if the M? sold him the field (to become effective after three years,
if he does not repay him until then). This is not n°27. However since the sale is not valid for it is an Xn2noR, therefore
if the m>n would not return the M7 it would be n°375 *1nn.
!9 The reason *"w states 17 7Y N°2701 is because the rule is that only 7%Y%P n°27 has to be returned to the m>
(since AXXP N°27 is 77N 1 OR), however any other type of n°a7 (like n°a17 pax) even though it is prohibited,
nevertheless once it is taken, there is no obligation to return it (since it is only an 73277 0°K). In our case the M
already took the n°27; he ate the M7, therefore the reason he must return it is because 17 7X1X¥p N°173; people will
mistakenly assume that 7¥1¥p n°27 need not be returned.
1 Literally n°27 paX means the ‘dust’ of n°27. Actual n°27 or A¥1¥pP N°27 (which is RN™MIXTA 7OKR) is when at the time
of the loan the interest payments were set. However when it was not initially set up that there be interest payments
(as in a purchase; see footnote # 12) it is called n°27 pax and is 7OX only 712777.
22,0 n"2. The case there is where someone pays twenty-five 2117 for a M1 of wheat (which was the market price)
but did not take delivery. Later when the price of wheat rose to thirty 0°71°7 for a 713, the buyer asked for his wheat
and the seller said he has no wheat in stock, but will sell him a barrel of wine (which he also did not have in stock)
for the credit of thirty o717. The buyer has gained five 0717 (or perhaps more) in this transaction. This is
considered nN°27 P2aR and is 7312772 MOK.
" Even though there was no 7¥1¥p n°27 by 1 X77M XyIX X177, nevertheless since it was a loan and not a sale
therefore it is “»7 7¥1¥p N°273 and must be returned.
' See footnote # 9.
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— %295 NMT NNIYNA ONNN 92

Except for that case of 7819;7 where it appears to be like n°a=, therefore only there
is Myva 79°nn not a 7N -
— aYrnm 8D RYT )0 29 920 NI

However here 1'% maintains that N2 7917 is not a 9.

mMooIn mentions an additional difficulty with that >"w75:
— (8,320 97 NP9 Y92 DNN NP2 9N NNTIVIVD DY DY 291 INDI 119

However, without the aforementioned difficulty with "w95, there is another
difficulty with his interpretation, for X1°21 stated there in the beginning of the
=D -

— T ag)m 51539 22UN N9T D99 M0N0 PINN PN 1993073 XN N9 XMUNRT
That our courts do not return a 8n»>1 X2 Xin>w» from the 779» to the M for
it is not considered 73I3P N%an -

— y1n3 29 19y 199 K91 NNPNHOM)

And presumably 1'% will not argue with X1°27 and will agree that he does not return
the m7°9; so why does he maintain that >3° X777 XYIX X777 since it is not 7X1¥p N7,

In summation: It appears from "9 that 1"7 generally maintains 72°m X7 NMywva 72°01 except in
the case of the loan where (even though there is a [myva] 7%°nn, nevertheless) the M%» cannot
retain the M7°d since it is similar to 7XXP N°27.

mooIN asks, firstly our X3 (which is not discussing a loan) states that 1"1 maintains Myv1a 7m0
n2ma R K9, and secondly in this type of n°27 (eating the fruits of collateralized property), the
ruling is that it remains by the M%7 since it is not 7X1%p N°27.

mooin offers his explanation of the X713 in 12"2:
— NN 9INRTD NYINM NMN NDT 11DNI 29 920 DIPN Y527 IVWIND 1917 DN 13939Y INII)

"> There was no loan here and nevertheless 1" told ¥" that it is a Myva 72 and not an effective 72°mn. See
‘Thinking it over’.
1® xn»21 X923 ’n1dwn literally means collateral without reduction. The > puts up his field as collateral for the mn;
that until the loan is paid, the field is under the control of the 71%» and the m>n can reap the harvest without reducing
the amount of the loan. The Mm% will have to repay the full amount of the loan regardless of how much M5 the m»
consumes. Those M7’ are actually n°a7, nevertheless X1°27 maintains that we do not return that (1°27) money from
the m%n to the Mb.
"7 The onon will make the 72» return to the M any fixed n°27 which the M2 collected. However here there is no
fixed n"27 (since it is possible that nothing will grow on the fields). n"27 Pax is not 0°1°72 X¥1. The same should
apply to the Xnonox field that it is also not 7¥1¥p n°27 for the same reason.
'8 5"y explained that really 72 X% M3 72°n» the only reason why the 1" must be returned is because it is like
7Xp n°27. However this type of n°27 is not 0°1°>72 XX as X127 ruled (for it is not 7¥1¥P N°27); it remains by the mvn,
so why does 1"1 rule that >7°5 X771 XyIR R17737!
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And it is the view of the n''9 that this is the explanation; that 1'% always

maintains that myva 7517 is not a 779, as 1" stated here -
— mNﬁﬂ MYV NMIY ONN 1INI 29 22 TIANP (8,15 97 xysn xa2) TIPNN YWD

And 1"9 also stated in the beginning of 7°ppn? P75 that there it was an

erroneous assessment and therefore it is voided -
— 910 MY PIPT MIN M) (7 41 POINT KNP DI 9)03)

And 1"1 also stated at the end of the first pa2 of v noon that a mistaken y7ap

can be retracted; all of the above prove that a mistaken transaction is null. M50 addresses
now the X3 in »"3, in which 1" differentiates between the 97 N17°5 which he may keep and the
XN210KR7T M5 which must be returned -

— MYV NDINN NMN KDY 23°2T ONNT 1IN 299 NIYV 1997 NON

Rather this is the reasoning of 1''9 that there (by the %P7 m7°0) it was a sale,

and not a Mywa 79 (and therefore if 2% vnw the buyer does not need to return the
m°D); it is not a MYV 77717 -
— 9NN 150 KD NNY Y Y19 99N NN 1Y*aNY

For even had the seller known that he can retract the sale of the m7°d, we may

assume that he would not have retracted -
— H53m10) 910 NOMIINA 99T 1Y NPT

For it is beneficial for him to retain his trustworthiness and he decides to

transfer the Mo to the buyer in any event -
— 9913 NN XY 799 9999 19N MY NN NN NN YaN

However here by the Xnonox it was a loan, and the m* does not transfer the

rights to the land voluntarily, only by the rules a sale (in lieu of the money he received

from the m%n [as a loan]) -
— 5959 533 97N RYIN RITNT 11999 5391 99 NI NN KNINONT 0193 199K 9910

However the sale is meaningless for it is an Xn>%ox and the M never decided

' The case there is where a watchman lost the nose rings (*2) which were deposited by him. The watchman did not
have with what to pay so they assessed and took away his house for the *5°2. Eventually the "5 were found (in his
possession; he misplaced them) and 1"7 ruled that house be returned, for the Xmw was done mistakenly since the
watchman was always in the possession of the *5.
0 The case there is where gardeners thought that one of them received extra money, so they told him to return it to
the owner and he made a 11p with the owner that he will return it; later they realized that there was a mistake in the
accounting and no money was owed; 1" ruled that it was a myv2 13p and he is not obligated to pay.
! The 72m sold the 77 M to the nP»; however it is legally non-binding so the 23 could nullify the sale.
However the 75w feels that he will gain more by agreeing to the sale so his credibility remains intact, than voiding
the sale and losing his credibility. In actuality the 12 did not realize, at the time the npY? was harvesting the nm°d
that the sale was not binding. This happened later, and at that time the 73 indeed wanted to nullify the sale.
However since at the time the buyer harvested the m7°9, the 70m did not object, we assume (that at least at that
moment) he would not have objected even had he known that he could object.
> We do not say xn»°712 7°97 regarding the M5 since he never had any intention of granting the field to the 772 as
payment for the loan; however the %P7 N17°0 7211 had every intention of selling the p7 m7s.
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to transfer the land,23 so since the land returns to the Mm% because the sale is

invalid (since it is an XN2»OX) the M99 also return to the Mm> (since the field never
belonged to the mon) ** -
— 092 N PN 5’29 PANT AP NN zsﬂ’ﬂ‘) NN 1NN NN BN YaN

However if he would give the fruits as n°a9 (as in the case of Xn>21 X2 Rn1OWN)
the Mm%~ would acquire the fruits since n°29 pax is not 2%19°72 K3,

mooIn responds to an anticipated difficulty:
— WIYIDN DT Y1 190 NY TANIN IMNY 2va M7 Exam

And 829 who wanted to refute 12 from the laws of RN did not know this

interpretation (of s'1"7 answer, which moo1n gave) -
— ANINND OV VPN NN NY ¥19 NrYn ONY

For if X217 would have known n1901n interpretation, he could not have asked

anything from 7X1IX; he could not have asked why by Ax1X he gets back his money but by
%77 M’ he does not get back the Mo -
— 539121 93 FROWra7a MYLA NN KNA XY NINT

For here by 77 m17°0 it is not a nwwa 79 m» (as by x1IX) as I explained that the
reason he does not return the %p7 Mo is [because] the owner convincingly

¥ To review; 1"1 maintains 79°1» X7 X2 Mywa 72ms; however by %7 N0 there was no Nwva 719°m» for the seller
wants to keep his good name and even though he may be legally entitled to retrieve the m7°5, we assume that at the
time the buyer gathered the N9, the seller did not mind (even though he may have known that legally there was no
sale). It is therefore considered a bona fide 7%, By the case of the loan (where the Mm% committed his field to the
77 if he does not pay), the only right the 7791 has to this field, is because it is considered like a sale (the field in
exchange for the money he lent the 712). However it is an invalid sale for the 77 never intended to give up his field
since he was certain that he would have paid up the loan in time. Once the sale is invalidated the m7° which the
71 ate must also revert back to the M7 since it grew on the s'm? field. This has no connection to n*a1.
* There is a basic difference between the Xnanox case of 1" (where >7% X177) and the X031 X%2 RN1OWH of X121
(where D172 R¥Y 1R). By 1"92 Rn1dwn the M willingly gave his field to the m%n to eat the M7 as N7 (Par). It
may not be permitted, but once paid it is not 0°1>72 X¥v. In the case of XnonoX, the m? did not give anything
[willingly] since he assumed the field would never go to the m>», it was a sale based on an Xn310x which is invalid.
Therefore >7°d X7777; not because of N°27, but rather because there never was a sale.
» Perhaps Mmoo means to say as follows. The m> transfers the field to the m%» (since he did not pay the loan).
However, the m? still retains the right to redeem the field from the m%» should he have the funds to pay off the loan.
The m?> assures the m>n that even if he will eventually redeem the field he grants the Mm% all the M7 the M7 will
consume in the interim as a n°27 payment for the loan. This n°27 need not be returned, since it is N*27 Pax.
% See there 2,70 "3, that X271 (assuming that 1"7 maintains 7%°mn X7 Myva 72mn [as *"w explained the Xna])
wanted to ask 1"1 how can one maintain 77’1 8177 Myva 77’11 (and therefore he may keep the %P7 m1°0) when the
rule by XX is (see footnote # 27) that one must return the AXNX (to the buyer) even though (the buyer) gave the
extra money willingly and was nwwa 2mn.
*7 One rule regarding 7X1X (swindling) is that if the price paid was one sixth more (or less) than the true value then
(even though the sale is valid) the extra money must be returned.
% Others amend this to read, *3pm a7 [21wn] MW 0T
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decides to transfer the m~» to the buyer to protect his good name.”

mooIn clarifies one more difficulty from the X713 there:
— N29 D730 %95 *abnn Casun 150 ypn amn

And 1" who was answering from the case of N (that the case of n'n9”X

supports 1"7), it was only according to the logic of X2 -
— MMTINM JY0N ANIND D NAMNIN 99Y5

Meaning according to your (s'%27) mistaken view that I (3"1) maintain nyva 79°nn
m2°ma X075 so instead of challenging me from 783X (which seems to prove that X?

72°nn X*177) support my view from nv1Y99X (which proves that 7%°ma X17); what 1" meant
to tell X2 is that -
:5PYII9TI DYNY NNNR 7098 N9 Yy NN

You (X21) perforce must rather differentiate (between %27 M7°0 and &ni>wn) the
way Nooin explained 1", but not the way 837 understood 1".

SUMMARY

* Rather X210 thought the explanation of s1"3 distinction between %P7 M"d and Xn2nox is as *"w9 explained it,
whereupon 1"1 maintains 72°m1 X7 Nyv1a 72°07, and the question from 7RIN is a valid question.
0 Seemingly since X2 did not understand what 1" answered, 1" should have merely told him that he was mistaken
in the understanding of his answer. m»01n explains why 1" responded to X217 as if it were a valid question.
3! The rule regarding an M19»X (a woman who cannot bear children) is that if at the time of marriage we did not
realize that she was an n°1¥2>X, when he divorces her (upon realizing that she is an n°11%»X) she does not receive a
721n3 since the marriage was a Nyv npn. The obligation of a regular 72102 includes that the husband must give her
back (if he divorces her) all the assets she brought into the marriage for which he accepted responsibility. By an
12K however she does not even receive these assets either, since she has no rights of a 721n5. When the 1”&
bought her assets into the marriage and gave them in the custody of her husband she did not know that she was an
nno»x (for presumably had she known that she would lose these assets she would never agree to give them to her
husband), and nevertheless her mywa 77°mn (mistakenly giving over her assets to her husband) is a 72°n»; proving
that 7%>m &7 Myva 72°mn. This is what 1" answered 837, However nvon maintains that 1" is of the opinion that
T2 mn RN R MYwa 77°mn, how can he argue that n°179°°X supports his view?!
32 [1"7 concluded there that there is no proof from 7XIX since "3 MNT XM R8T ¥7° X927 and there is no proof
from N 19K since NMWRT XAW 77V 219°n7 177 X171, If we assume the way n1901n explains the difference between the
XnonoX and %P7 M0 (but generally 72 X117 R? myva 77°nn) then this answer of 1" is understood; we cannot
compare 2p7 M7 to RN, since by XX the one who was cheated never realized that he was cheated ( 7°n°K7 ¥7° 827
T2 2°MnT ARDR) it is a Myva 72°nn, however by %P7 M0 he wanted to sell the M1 and did not mind the buyer
keeping them since 7011172 12°27. Similarly there is no question from n°179X (where 72°1 877 Myv1a 77°M17), since
there she is willing to do anything to be considered married, including giving up her assets. However according to
"w9 that 1"1 maintains 72°17 817 Myv2 77°mn, while we can understand why n°179"X is no proof that X177 nwwa 7%nn
72°mn (since she wants to be considered married), it is difficult to understand why by AR it is not a 7%°1n (since he
is not aware) and generally myva 72°m1 is a 72°mn (for in all cases of Nyv1a 72°mn seemingly the person does not know
of his myy, just like by nx1X). The question applies to %P7 Mo as well (for *"w1 does not mention anything
regarding RM1n°ma 777, only that it is Mywa 77°nn) how is that different from 7x1K? This is perhaps what msoin
means with the 573 Por% 7nX 7% 3"V XOR. 3"y¥1.(Alternately the 3"V X2X is referring to the two questions N0 had
on *"w0 and therefore N*w972 P12 ANR I8 2"Y)]
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"w7 maintains that according to 1" we rule 72°mn X7 Mywva 7711 (except by a
M1 where it is N°272 *1°n). MDOIN maintains that according to 1" any Myva 77°nn
79°nn X117 X2 except where there is the X120 of N7 12727,

THINKING IT OVER

mooIn question is how come by %P7 M7°o we find that 1"1 maintains Nwywva 79nn
72°mn X717 and here by ¥"™, it is not a 72°mn.> Seemingly there are two differences
between the cases. Firstly 77°nm &7 nyva a2°n» means that if someone forgives a
debt under mistaken assumption it is a valid 77°% since he is not taking anything
away from anyone; he is allowing the money to remain where it is (as in the case
of %P7 M7d); however in the case of ¥"1 he is being ¥pIp X*¥1 from the MwA of his
neighbor in such a case perhaps the myva 77°nn is not effective.

Secondly, in the case of 27 mM7°d the owner sees the buyer harvesting the fruits of
his tree (which were sold to the buyer by the seller) and he is acquiescent. That is a
72°mn albeit myva. However here the neighbor was not being 2m» anything to v'"9,
he assumed the wall was being built on the original boundary line; how was he
5mn anything?!™*

33 See footnote # 15.
3* See W NIX 792,
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